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Eskdalemuir A2 scenario

Cumulative probability of getting a certain change in the maximum number of consecutive dry days
Heavy red line: scenario period (2071-2100) — ensemble mean
Coloured lines: scenario period (2071-2100) — ensemble members

0.8

0.6

Winter

15 20 25

30

08 [

0.6

04rF

0.2}

Spring

0
-20 -15 -10 -5 0 5 10 15 20 25

30

25

30

0.8

06

04t

0.2

Autumn

0
-2l

0 -15 -10 -5 0 5 10 15 20 25

0.8

0.6

Annual

25

Dry days

30

06

04

0.2

1——
Winter
08}

0
-2l

0 -15 -10 -5 0 5 10 15 20

25

30

0.8

0.6

04

0.2

! Spring

0
-2

0 -15 -10 -5 0 5 10 15 20

25

30

0.8

0.6

04r

0.2

1 - .
Summer

0
-2

0 -15 -10 -5 0 5 10 15 20

25

30

08

0.6 [

04

0.2

1 T .
Autumn

0 -15 -10 -5 0 5 10 15 20

25

0.8

06

1 .
Annual

0 -15 -10 -5 0 5 10 15 20
Dry days

25

30



